


s -~ 1/\ -~ .
Al BLp S G0 2w PAPY = 1 el Ve S~
c //‘ //- & ‘ . !
reae () o aw\g\;(uyublg Y =Y, ANhlLse N ,Aﬁg;/,i

S () G e s b e

sCorhopod Y=z B0ty 2y - 44° Jé

=>°A@3

bl 2 JL . J/jl/‘ /\Mc—/y’ <°/°°) 2 (%2? E\)’) “J’L"“”‘/"

e(/\J'o/\/u/JaJ (O/M) D/L /)(.}’M



2
K= o Fhr =% 2 pw=t

)

Tt
Yo +[ 45’ ds
{

=2t = t%4)

/ 2 3 2
(tLv = 3/+ 9_{:3 = 9t = tyw)

= M) - bt

C:/...»(\-d:‘ t:a é:)/)\-_,bacg__—;>



/ . e
///*’//w/’?)v&NLJ»LuﬂV'ja@ o ey g e 9}4’0*://7:}/& -
/\.’/LC-J])

M=) b /) _ ;

Y= Ao Yol =0 —in

o e - e -~ — S v
(s, \)9,\«(}’/&-_",;033%*\)6—'-/\/;\5 O k= & Pley = —e-_—{ PENEN -

. . —
s o p —e (..,-@// D)l Ul -

j% Wyl = T}LO— lh)/—t/ = Y =
»4/<WJJL«»/9 tele ) _p gl —locrl



J)_JL'LoLdb\a«
/,‘ /‘» . // ‘/ / S ~
Fo e Ol G T e Yrpg=o o de, Ga

3/-4— PUS) jefj)z o

350l
AN s F(gj)zf)"/
ngF (y) = 52737
fg(F[g&))) = %{Ffﬂ) -f = —Qj((%) = —pt)



©
Ylo)==\ SR Y e AT _Jen
T 2 (3—\)
y= — k)= —t° -2
3‘(3 2(40) s> PO + 4t

N 2
F( ) = (W -\ = S\-_ — = \—- = 2(W\—\
NV=Y-\) > o (y-) T ¥-))

2y0Y = 3t 4t 42

j—

2 t
(}j»l)i :3{2_%_,.1 :) (’5&%!) —-‘t=‘f3s"—‘rs+7_ds

(o

t

= £ _2t 42t



~

Topte Ao Lol )i A Al o

(3/3(3) = pLt)
! = = _ S
(.r')/{b‘,w))(vj/QT: 3 )/)W; C-lc._)‘)t A o= U/L;)-é a/_i,«:l.fj)

V)

: ~ t - d
a\f)\ f/\vJF P Al ?(t)sS PU)JS/ »Lt‘g cf)\tb G(J):f 3(«)Ju _/I/

G (y&) - GYto) = Per)—pcts)

3(0} =0 . _c_ii_ = \‘\—32 —JZ‘

dx
cij ~I - 14
—H—’j—z = OL‘t ;9 frn y(’c) —tan Y= I‘ ds =t

2 Y)= tmt



Ye)=) W+ Q) &t =5 ~J

/

—-&— — - Q ;/lé 5—334'(}'
= St () T pet)
Y + Guyy= Lk (M")
o> Jal (s 2
P 2 V) = Gst

er lh(lf-nl) —-l:‘hl.:_ Co.)‘t _ I

ln((+3z) = 2Gst+ 4 lhe —2

1+3* = exp(2Gst + ha —2)

b
Y :’—"—[—H—@XF (2Gt —)-ln‘L-L)} ——

SN o T G b,



, . — o e
ISR RISV () e

e ity = 88 /’:/1” L i—‘z - J-4t ~dé
— Z 't' s = 'b __}
JJ = > tqli _ tz -4t -4
de TV TiTer T
tde _ =24, A=z dx _ |
de — 1-= ? 224 dc F
:zvlf{;w&l.v(.(é/

e . 7
%:d/t Cw/gf#é?wc/,t Y - F(i) o c}/ul,/w JJu/f/—J

ot ihoctle Ll
te’ = Fz)_2 -



dy _ zy-t+5_ —Ja

ot 2t-y-4

/0 .~ e P =
Pep 8o Ly s oS dy - F(L) Sure Shee

=Y -«
¢ > AL o -
b= T-p 2(T-g) - (X-x) —4
= Z\(‘T ’\'(—?"’(_"p"'g)
2T - Y +(CG2f +x —%)
oy ST T CS XA pts= 0 LA AAT P T
>4 ‘Zé ~4} -0

Z::__\Jr_ ~)jﬂ) F(;) s



TQIZ ‘I‘Z _ 12'.“-]

—— —

dT -2
@1y
.;\;’__a))e)ufb\},&, C s
X (T) =T A)

Y&l =(F 1) 2 (61p) — &



